duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

228F

JS o

B R 0 B R 0

A P VG LA P A A A P

&

1228

avivir

’V‘ .39h g0 220! CSlee 39 3! SIS S

aV'd () gma pla!

alp! ol (5 )90e
&35 5 Sl pale Oyl
IS Pigel i plojl

[“’QV Jl.w_ J>'|.> &nﬁb ..\.J'ajgwu)lf Guo)go K299 u’o)ij

(

(YYY) 0S = 55 abbS o e

)

Q83 YD 1 oSy o:_l

S 8lels g dlaws o Jloial Slge ylgas

VA4 : Jlome al.,\:"—'

Slas U | 3l ) | Jlgew Slani Sl dlge i,
Y. \ Y. (oosdSSN) pnads g gogee b3 | )
a8 A Yo soeee JLib gty | Y
A 8% Ya PRl K
Ve A Yo $3yglis slasdl | F
. V-5 Yo Sygle dxwy g gy | O
188 AR Ya 4 )0 Sy pde 4

ot Jloee Wl il 5 aalaiw!

..))'\) “.A.n 5)0) Q,"ji h’"

Bygn 1 S el onbliin b g ail e e e sl 300 Ll Byl 3 A olondl paled 1 sope 3T (55158 2 3 g (iony SS9 ) iy 5 8 0 T A g 5 ik 3

P P N L P A B

2

&

2 VWAV | SRR

i

2

&

Gl ey e bt § 92 it )] gl ;b 90 5 bS] § bl G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

Y indis 228F (OYYY aS) (55,908 Cu oo (y9e)!

ol (19031 dds 10 Lol jgea pus & jods (b3 Joua Ol jade 10 Lasl § Glakie 730 pos ool )5 Llbgls ¥

sitlad g a5 oysas] il Kailler 38 ussisciminin cillogtachylal oo il

.‘(M/) M“’;o,a‘ (Jb)

| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-----—--- ---
by the Keeping and use of animals.
1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --——--eceeeueev by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ——-----eeeeee-
to be used for the new dish.

1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other —-----ceeeeev -~ issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he -------—-——---- puts off doing his
assignments until the last minute.
1) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint -----eeeceeeeee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try (0 —==-—emmeemeee themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article
that said his company was ——-—----—--- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --—--eeeeeeeee , 48 you can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can ----------—--—- diabetes.
1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ————- , since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—----—-—--—— and altering both their
culture and their physical environment, (13) ---m-emeemm- -- can thus defy any formula
(14) ~——mmemmmeee the matter. The number of people that Earth can support depends on
(15) -=========-——, on what we want to consume. and on what we regard as a crowd.

11- 1) It is probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Terra pretais a type of very dark. fertile manmade (anthropogenic) soil found in
the Amazon Basin. Terra preta owes its characteristic black color to its
weathered charcoal content. and was made by adding a mixture of charcoal. bone, and
manure to the otherwise relatively infertile Amazonian soil. A product of indigenous
soil management and slash-and-char agriculture, the charcoal is very stable and
remains in the soil for thousands of years, binding and retaining minerals and
nutrients. Terra preta is characterized by the presence of low-temperature charcoal
residues in high concentrations; of high quantities of potsherds: of organic matter such
as plant residues. animal feces, fish and animal bones and other material; and
of nutrients such as nitrogen, phosphorus, calcium, zinc, manganese. Fertile soils such
as terra preta show high levels of microorganic activities and other specific
characteristics within particular ecosystems. Terra preta zones are generally
surrounded by terra comum, or "common soil": these are infertile soils,
mainly acrisols. but also ferralsols and arenosols. While deforested arable soils in the
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Amazon are productive for just a short period of time, and farmers are constantly
moving to new areas and clearing more land. the terra preta soil is less prone
to nutrient leaching caused by heavy rains and floods because of its high concentration
of charcoal. microbial life and organic matter: accumulating nutrients. minerals, and
microorganisms. Terra preta soils are of pre-Columbian nature and were created by
humans between 450 BC and 950 CE. The soil's depth can reach 2 meters. Thousands
of years after its creation, it has been reported to regenerate itself at the rate of 1 ¢m
per year by the local farmers and caboclos in Brazil's Amazonian basin, who seek it for
use and for sale as valuable potting soil.

It is stated in the passage that —-—-—-mevmr

1) very little terra preta soil was made dﬂer 950 CE

2) anthropogenic soil range from light to dark in colour

3) terra preta is more durable than deforested arable soils

4) charcoal binds and retains stable minerals and nutrients
According to the passage, -=--=====e=eev,

1) nutrient leaching is mainly because of floods in low-plains

2) terra preta soils “grow’ by around one meter in a hundred years
3) weathered charcoal is a mixture of charcoal, bone. and manure
4) the Amazonian soil is extremely fertile even without terra preta
The passage points to the fact that ‘common soil’ ---=--=--eaee-,

1) contains more acrisols than ferralsols and arenosols

2) is found in the Amazon Basin inside terra preta zones

3) has high levels of microorganic material in its ecosystem

4) management is possible through slash-and-char agriculture
Which of the following does the passage not mention terra preta contains?

1) *potsherds’ 2) "nutrients’

3) “charcoal residues’ 4) *animal residues’

The word ‘caboclos’ in the passage (underlined) is closest to a class of «---=e-eeneeee 3
1) “people’ 2) *plant’ 3) “farming’ 4) *soil’
PASSAGE 2:

Rainwater harvesting is the accumulating and storing of rainwater for reuse before it
reaches the aquifer. It has been used to provide drinking water, water for livestock,
water for irrigation, as well as other typical uses. Rainwater collected from the roofs of
houses and local institutions can make an important contribution to the availability of
drinking water. It can supplement the subsoil water level and increase urban greenery.
Water collected from the ground., sometimes from areas which are especially prepared
for this purpose. is called stormwater harvesting. Greywater is wastewater generated
from domestic activities such as laundry. dishwashing, and bathing, which can be
recycled on-site for uses such as landscape irrigation and constructed wetlands.
Greywater is largely sterile. but not potable. Greywater differs from water from the
toilets. which is designated sewage or blackwater to indicate it contains human waste.
Blackwater is septic or otherwise toxic and cannot easily be reused. There are,
however, continuing efforts to make use of blackwater or human waste. The most
notable is for composting through a process known as humanure. Additionally, the
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methane in humanure can be collected and used similar to natural gas as a fuel, such as
for heating or cooking. and is commonly referred to as biogas. Biogas can be harvested
from the human waste and the remainder still used as humanure. Some of the simplest
forms of humanure use include a composting toilet or an guthouse or dry bog
surrounded by trees that are heavy feeders which can be coppiced for wood fuel. This
process eliminates the use of a standard toilet with plumbing.

It is stated in the passage that ~------n-n- e

1) dry bogs should be built away from heavy feeders

2) greywater can be used for constructed wetlands

3) greywater may sometimes contain human waste

4) water for livestock can be sued as drinking water

We understand from the passage that --—--—-eeeeeee- .

1) blackwater can be processed into biogas

2) rural toilets do not usually have plumbing

3) composting is a process known as humanure

4) stormwater harvesting is done after a rainstorm

According to the passage, -----=======ux,

1) landscape irrigation today is usually done with recvcled water

2) water from the toilets is designated as sewage for blackwater

3) rainwater from local institutions can increase urban greenery

4) it is economical to harvest all rainwater before it reaches an aquifer
The passage points the fact that -——-——--———

1) greywater cannot be used for drinking purposm

2) drinking water can supplement subsoil water levels

3) septic blackwater is toxic but can often be reused

4) wastewater from bathing is also good for dishwashing

The word *outhouse’ in the passage (underlined) best refers to a Kind of a -~ in the US.
1) *barn’ 2) “toilet’ 3) “store-house’ 4) “cattle-shed’

PASSAGE 3:

Crops grown in traditional outdoor farming suffer from the often suboptimal. and
sometimes extreme. nature of geological and meteorological events such as
undesirable temperatures or rainfall amounts, monsoons, hailstorms, tornadoes,
flooding, wildfires. and severe droughts. The protection of crops from weather is
increasingly important as global climate change occurs. Floods cost the US billions of
dollars in lost crops. with even more devastating losses in topsoil. Changes in rain
patterns and temperature could diminish India's agricultural output by 30 percent by
the end of the century. Because vertical plant farming provides a controlled
environment, the productivity of vertical farms would be mostly independent of
weather and protected from extreme weather events. Although the controlled
environment of vertical farming negates most of these factors. earthquakes and
tornadoes still pose threats to the proposed infrastructure, although this again depends
on the location of the vertical farms. Each unit of area in a vertical farm could allow up
to twenty units of area of outdoor farmland to return to its natural state. and recover
farmlands due to development from original flat farmlands. Vertical farming would
reduce the need for new farmland due to overpopulation, thus saving many natural
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resources, currently threatened by deforestation or pollution. Deforestation and
desertification caused by agricultural encroachment on natural biomes would be
avoided. Because vertical farming lets crops be grown closer to consumers, it would
substantially reduce the amount of fossil fuels currently used to transport and
refrigerate farm produce. Vertical farming. used in conjunction with other technologies
and socioeconomic practices, could allow cities to expand while remaining largely
self-sufficient food wise. This would allow for large urban centers that could grow
without destroying considerably larger areas of forest to provide food for their people.
Moreover. the industry of vertical farming will provide employment to these
expanding urban centers.

According to the passage, -=--==seeeeeus,

1) vertical farms are not immune to tornadoes

2) there is almost no pollution in vertical farms

3) vertical farms have on-site refrigerating facilities

4) large areas of forest are destroyed to build vertical farms

We may understand from the passage that —-—-—eeeeeeu b

1) vertical farming is developed more in urban areas

2) storms reduced India's agricultural output by %30

3) vertical farming results in overpopulation in an area

4) vertical farms takes jobs away from local workforce

It is stated in the passage that -------e---- -

1) severe droughts occur after monsoons and hailstorms

2) consumers are, in fact, producers in vertical farming

3) one vertical farm can function as 10 outdoor farms

4) the US loses more in topsoil than crops by floods

The passage points to the fact that ——-------eueee- =

1) vertical farms are often developed near major local markets

2) well-managed farm environments do not depend on weather

3) outdoor farming should take place only in suboptimal conditions
4) fNat farmlands take more fuel than vertical for transport of produce

The word ‘encroachment’ (underlined) refers to an event which takes place -------veu-- -
1) *quickly” 2) “clearly’ 3) “gradually’ 4) *suddenly’
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